HENEREREES i
SH4E2H108 OK)

6:550) (81 @ kg )
pHE i RiEL o2 = B Z B " =

SE 238 THI 76.3 70 20
£S5 808.5 1,319 219
AABFI LA 22.0 669 229
JURHLA 5,187.7 1,050 96
LSHLA 141.0 493 20
FAHLA 311.6 471 20
TFELSTI LA 611.6 1,039 209
=LA 261.1 359 20
HSRFLA 126.3 70 20
SCh 2,059.3 133 20
2 RS 269.6 79 20
2O00F 59.9 179 20
FARLY 3,388.4 1,177 304
<7+ 180.1 1,300 159
TVAVTAF A 450.5 277 20
IVAYVTAF A 30.0 911 500 (oo crr:
*7>07 2,782.3 449 31
NFHS 473.1 36 20
=L S 28.8 419 20
2ZF 72.4 759 139
RIR 28.1 689 20
IXFHT 499.0 684 20

I 17,867.6




$:550) (847 : kg)
pHE i miEH o2 = B Z B " =
SE 238 sH= 17.1 4,000 400
TYRSERF 40.1 151 50
254 hRFA 55.5 555 346
ZILAA T 72.6 431 81
TUAT 1,052.6 788 169
U D 310.0 4,101 1,500 [ 00"
<43 60.1 789 100
=247 50.4 509 461
IS 1,718.6 689 39
HFFT 751.2 1,600 1,369
astyE 21,995.8




(B : kg)

[fi¥£a])
FRZETELE AiEE W =2 = B Z 1B fm %=
EEREE 114%|ES5 X 39.1 1,212 100
AAGHLA 265.1 819 250
JURH LA 496.2 1,019 30
LSHLA 366.9 456 20
<HLA 853.1 533 250
<3aHLA 611.4 380 30
HSRHALA 33.3 66 36
A5 52.1 201 41
F7> 0 67.8 380 100
HFHS 92.7 20
> OXJ UL 844.8 775 300
JEZHAN 120.7 109 61
ESWAHZ 19.8 501 50
T 2% JEZHAN 49.3 120
20 4% >0/ UL 43.6 775 369
e 6% JURH LA 38.4 500 400
EXTYRS 23.2 269 100
DOEJE 54% |ERITY (ER) 651.5 3,600 3,300
INSHERE 4,669.0




67::) (BT : kg )
peES ] migE = 8 Z B fm &
HE 238 <73 261.8 1,500 800
<5 44 .2 800 400
=X451 101.6 800 750
BERXFE 1142|255 X 783.2 2,000 600
12HLA 190.0 500 300
XA LA 418.6 300 100
<55 33.3 200 50
F+77>39 94 .4 400 150
74 F A 33.1 1,100 300
NC 68 <45 47.8 850 800
=XA57 19.0 500

T2

2,027.0




